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Sign of Addition '+’
“When you put things together, they are being added.
The ‘+* sign shows addition and ‘=’ sign says the same as or

equal fo.

Use ‘+' instead of ‘and’. Use ‘=’ instead of ‘are’.

T

0

Count and write how many are there.

and ( (

ah If 2 6
and AR

-+ 4

oifar

- I

and //

=V = Y

are AR
Th - -
V

]
)

are

are

R
i

are

. Teacher’s Tip At this stage, the use of objects to do addition is important. Use obijects
: such as crayons, ice cream sticks/spoons, and so on. Give 10 objects fo each student.
: Ask the students to use these objects to add any fwo numbers.




been done for you.

wiite 2 |

e

L S o

say 9 plus

and

qnd

:

4

]

are

equals

are

are

T
B

are

Count, say, and write the numbers in the empty boxes. One has

Vo9
Voo

6

6




Adding One
When we add 11o a number, we get the number just affer it

4
I o+ E = 8 2.+ i = 5
58 + o1 = 6 9. +. 4 4= 10
3 o ] = 4-' 4 +- ] = 6—

Adding Zero
When we add 0 to a number, we get the same number.

T 111

|
%
[ =]
——=
———

4-  + 0 = 4

Add 0 and write the answers in the boxes.
7 o+ 0 = 1 9. + 10 =
2+ 0 - 4 o+ 8 = 1
5 . 0 - S . 80+ 0 = B

-------------------------------------------------------------------------------------

. Teacher’s Tip Draw a number strip on the blackboard. Relate each sum to it so as to

: make the concept of ‘one more than’ clear. The concept of adding zero is difficult to |
- grasp. Do various activities in class with objects such as—pencils and ice cream sticks o 3
- make the concept clear. *




;\dd"io" on a Number Line

| have 3 oranges in my left hand and 2 oranges in right hand. How
‘many oranges do | have in all? To find the total number of oranges

| can use a number line.

0 1 2 3 4 5 6

start at 0. Count and jump to 3. Then take 2 more jumps. You will

reachaf5.50 3 + 2 = 5 |have 5 orangesin dll.

Use the num

7

and write the answers in the boxes.

7 8 10
6 + 3 = 9
= |
S |
- / - YN —
0 1 2 3 4 5 6 7 8 10
5 + 2 =
}}
‘: ' I mﬁ"“’ij/"w w‘:""\;ff"“‘wwvmtf 1 o u‘hg,./ I :W ‘L&} , { | >
b 1 2 3 4 5 6 7 8 10
1 +.6 = %
0 1 2 3 4 5 6 7 8 10




~ Addition Uﬁin_g an Abacus
o TR | | The left rod
Add 2 fmd 3. | | represents the
Put 2 red beads in the ones rod. tens.
Now add 3 green beads and count.
2 | + 3 =

Draw the beads on the abacus and add.
T O

T e N S e T E o o e e LY




fForward Counting for Addition

~ Add 3 and 4 Using the Number Strip

0 ) L2 B IR e 8 9 10

"@?

;.rst go to number 3 and then move 4 steps forward to reach
‘number 7. S0 3 + A8l - Ly

Add the following numbers using a number strip and write the
answers in the boxes.

3+5= § 0+2= 1 44+1=17
1+6=T% 2+7= 9 6+2= 3
0+1= 1o 0+4= 4 1482 9
8+0= N 3+3= ( 5+4= 9
7+1= § 2 +5= . 5+5=1]0

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

; Teacher’s Tip Draw a number smp on the blackboard and do addition with its help. Explain
: adding 1 or 0 using this number strip. :

------------------------------------------------------------------------------------




Order in Addition

9.0 - 5+ -6
 ‘4+2'= 6 g 4 A = 6

When we add the numbers with their orders changed, the answer
remains the same.

Add the following using the number strip.
1 2 34 5 6 7/ 8 9., 10

S
+
w
I
_\l
(@)}
+
N
I
>

-----------------------------------------------------------------------------------

: Teacher’s Tip The order property of addition is very important and needs fo be reinforced
. with acfivities by pairs of learners in class. The learners can do addition with spoons or other

: objects for large numbers.

------------------------




\ertical Addition

We can also add the numbers

called vertical addition.

We can see that the answer is the same when the numbers are
added either vertically or horizontally.

Count and add.
ge— = = thr—
gl gt
Add the following—
6 5
+4 43
2 5
A N
9 g
3 5
+2 40
) 1o

+ 2

2

by arranging them vertically. It is




Adding Three Numbers

While adding three numbers, we can add numbers in any order,

2‘+ 12 4+ 58 = 76 17 + i 4 3 =61J

NS V4

3 + 3= 6 2 + 4 = 6

Add the following— '
A = & 4.- + b+ Bl = F‘!‘

V2R R A

L 4 1

]
~3—1

V4

5
1+3+O=Lf 5 4 v@3 0 2 B

WN
+
W4
i
A
+
I
Co

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

: Teacher’s Tip Ask the leamers fo use ice cream sticks/spoons or any other object o do the
. addition.

I
O




Add and write the answers in the boxes.

1 3 Apples
+ 1 Banana

A

+ a5 Pomegranates

| r:]’ Total pieces of fruit

Add the following—

1 2 ]

+ 2 +3 +8
+2 +3 + 1
5 8 Lo
3 5 7
+2 + 3 +1
+2 + 1 +1
B9

5 6 2
+2 +3 +3
+3 +1 |
10 o 4

+

Green beads

Blue bead

Red beads

| | 6 ~ Total beads

+ 2
_+3

+ 2
+ 1




Number Combinations

The sum remains the same on adding different combinations of

two numbers.

Number combinations for 1 Number combinations for 2
@1 +0=1 ' )
@ 0 + 1=1 =7

Number combinations o @ = 2

forlare 2. Number combinations for 2 are 3 .

Number combinations for 3 Number combinaﬁons for 4

3 40 =29 4 +0=4
J£1 =23 3+1 =4
1+2 =2 2 42 =4
0#3=3 1+3 =4

Number combinations < , 0+4=4

for3are 4 . Number combinations for 4 are 5.

The number of combrno’nons is always one more than the given number.

’ Write the number combinations according fo the colour of the
circles.

Number combinatfions for 5

Number eembrnatrons
~for5are 5

Number combinations for 6 are

Number combinations for 6

......6+0—b{

@ S+l5
...@@Qhw&r

000080 - +§J~“ »:
000000 - -~
e00000 2

s I =] ¥
R e it e

L e T PP L p W

et

L Ay

i s B AT




Word Problems
Solve the following. One has been done for you.

| There are 6 spoons in the holder. 6
7l There are 2 spoons on the table. | +9
” There are 8 spoonsinall o=
Sam has 3 mangoes. 3 Ay
Ram has T mango. + 1
Sita has 4 mangoes. +4 4y dy Ay by
Together they have @ mangoes. 8

- - | e

@ - There are 4 empty glasses. 4
There are 3 glasses filled +3

b g with water. |

i There are ‘J. glasses in all. %

Sonu has 4 bars of chocolate.

His father gave him 5 more.

He has C) bars of chocolate in all,




T a4 M)

s e A

e el A

) 57- N : A
9\"’3 s
A7

B <
':»4“{“
S

Count and write in the boxes.

'QQ@QQ QOQThere were (;‘»

apples were eaten. g

So there are 5 apples leﬁnq_f

apples.

Wi




Sign of Subtraction '-'

When some things are taken away, they are being subtracted.
The "~ sign shows subtraction. Use ‘~’ instead of “take away’.

Cross out, say, and write.

From 9, take away 5.

Say 9 minus 5 equals < 4 .

Write 9 - 5 = 4 .

From 8, take away 4.

Say 8 minus 4 equals Lf 1

Write 8 —~ L = L

From 6, take away 5.

Say 6 minus 5 equals ﬂ
Write 5 - 9 = 4

------------------------------------------

! Teacher’s Tip Encourage the learners to use the terms ‘subtraction’ and ‘minus’ as much :
+ as possible.

From 6, take away 2.

Say 6 minus 2 equals H .

Write 6 - 2 = b .

From 4, take away 2.

Say 4 minus 2 equals 2 .

wite 4 - 2 = 2.

From 4, take away 2.

Say 4 minus 2 equals 2 .

------------------------------------------




Sub’rmcﬁng One

.'-‘"n.'i"

There were 6 bananas and 1was eaten. How many bananas are lefp 3

When we subtract 1 from a number, we get the number just before *
the given number.

Subtract 1 and write the answers in the boxes.

2 -1 =4 0-1= ¢ 7 - 1

w
|
I
AY;
o)
|
I
-
&)
|
n ]
oY
LY eaiin

—
I

——

|

5 9 -1= 8 4-1= 3

Subfracﬂng Zero

There are 5 doughnuts.

None has been eaten.

How many doughnuts are left?
There are 5 doughnuts left. mel - 00

I
on

So when we subiract zero from a number, we get the same number.

Subtract 0 and write the answers in the boxes.

6 -0 é 4 -0 ;1 2 -0

I
20




subtraction on a Number Line

| had 8 toffees. | gave 3 toffees to my friend. How many toffees are
left now?

! i ! s = NN : l
a1 i 1 1 1 t >

1

o 1 2 3 4 5 6 7 8 9 10
start at 8. Then go back 3 spaces. You will reach 5.

Use the number line to subtract. Write the answers in the given boxes.

TR R ﬁ\.:'/{\( —_—
0 1 2 '3 4 0, 6 7 8 9 10

A

#
-
)
i

0o 1 2 3 4 5 6 7 8 9 10




Subtraction Using an Abacus

Subtmda from 8.
Put 8 beads on the cbccus Cross out the first 3 beads
There are 5 beads left. So 3 O

Draw the beads on the -abacus and subtract.




Backward | Counting for Subtraction

Subtract 4 from 6 using the number strip.

o0 Tt A s S R e O e

Keep your finger over 6 on the number strip. Then move your
finger backwards by 4 spaces. You will reach 2.

So 6 - 4 ='2 .

Use a number strip to subtract the given numbers and write the
answers in the boxes.

6 — 3

’5 9‘5=H 5 -2 =

7_3=1‘f 10 -3

I
22
N
!

[

-----------------------------------------------------------------------------------

Teacher’s Tip Draw a number strip on the blackboard. Use it for solving more problems
« on subfraction orally. Remind the children to move backward for subtraction.

»




Subtracting a Number from Itself A
Subfract 4 from 4 using a number strip. 1
o DADE S TR R O R S e

i

Keep your finger over 4 on the number strip. Then move it i
backward by 4 spaces. You will reach 0. |
So 4 - 4 =0
When you subtract a number from itself, the answer is always
Zero. -
Use the number strip to subtract the given numbers and write the 1
answers in the boxes. *
RTINS N TS
6-6= D §-8= 1-1= ¢ &
2-2=( 10-10= 5-5="¢ 8
9-9= 0 3-3= 0 7-7=20

-c-.llloo-----tl.o.otllounl--o-lcu----a---nola-ounaluncl-----.noo-------.cnunl--ll-__




' Verﬁtdl Subtraction ,

We can also subtract the numbers by arranging them vertically. It is

called vertical subtraction.

. 9009 ®

S 5 - .2 =3

We see that the answer is the same when the numbers are
subtracted either vertically or horizontally.

Subtract the following.

7 9 7 6
-2 2 -6 —4
i 1 il e
4 4 9 6
-3 -9 ~7 ~3
i 3
8 5 9 9
-6 -4 -9 =
D / ) Q
A - . —
8 8 5 5
-3 -2 -3 -]




Subtraction Facts

Subtroction facts for 1 Subtraction facts for 2 2
# 1-0=1 %K 2-0=2 E
w 1-1=0 %H 2-1=1

HH 2-2=0 ;
Subtraction facts for 1are 2 . Subtraction facts for 2 are 3 .
Subtraction facts for 3 Subtraction facts for 4 4

WH W 3-0=38 FH I 4-0-=
WK K 3-1=2 FhEHK4-1=
WHK % 3-2=1 k&K 4-2
KR K 3-3=0 WHKEH 4-3

KA 4 -4

Subtraction facts for 3 are 4 . Subftraction facts for4 are 5 .
So the number of subtraction facts is ‘one more’ than the number.

1l

4
3
2 q
]
0

Cross out, count, and write.

Subtraction facts for 5 Subtraction facts for é

KRR 5-0=5 W& '
*****SJ-iﬁ*****é—wi
FhAEHK 5-2=3 AT Rwk 6-2:=4
TR KR 5-3== ke 6-3=3
TR 5-4=L ek 6-4=2
Fh kA 5-5=-2 Ahere ko 6-5=1L

I Yy 6-6=0

Subtraction facts for 5 are 4.  Subtraction facts for 6 are ".!ﬂ

\




| word Problems

Solve the given problems and write the answers in the boXes.

There were 6 children sitting at table. Out
of those, 2 children got up and went away.
How many children are left now?

Anil had 7 sweets.
He gave away 4 sweets.
How many sweets are leff now?

There were 9 pears.
Out of those, 3 pears were eaten.
How many pears are left now?

There were 8 packets of biscuits. Ouf
of those, 8 packets were taken away.
How many packets are left now?




8
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|

The sign for ‘equal to’ is ‘=". An equal sign means both sides are
the same. So 5 is the same as 4 + 1.

Fill in the boxes to make both sides the same.

s g AT T e L St R e e O

L i g

Fed AR ok

et

’8=3+56=9—?)9=3+6'
5 =7- P 4 =6~ 088 =<6~ (8
6 =1 + A 7 =9 - ) |4 =2 + [958
3=3+@1=8—ff§» 7 =5+ 9




